MODEL QUESTION 22

1. Fill in the blanks with the words from the box. Make any change if necessary.

| an I to I pleasant I vigorous I a | with I enjoy I for | on I beauty I
Morning walk is a good habit. It is beneficial (a) — health. It is (b) — as well. It exercises a good effect (c) —
a man’s body and mind. The morning air refreshes his body and mind. It gives him (d) — opportunity to (e)
— the beauties of nature too. In the morning nature looks fresh and (f) ___ . When a man takes (g) —
morning walk, he sees the superb beauty of the sunrise. After taking morning walk a man returns home (h)
— a cheerful mind. He takes his breakfast with great relish and starts his work with a fresh and (i) — mind.
In short, morning walk is so pleasant and good (j) — health.
a e i

b f
c 8
d h

2. Fill'in the blanks with suitable words.

We cannot ignore the (a) —of money in our life. To execute (b) — scheme of life, we need money. It (c) —
our worldly peace and prosperity. We can enjoy our life well (d) — we have enough money. Without money
our life will (e) — deplorable and lamentable. But (f) — money is not easy for all. Ability as well as skill is (g)
— to earn money. Again, our peace and prosperity depend (h) — the proper utilization of money. Spending
money (i) — an illegal way can lead us (j) — the path of destruction and downfall. So, we should be aware of

spending money.
a e i
b f j
c g
d h

3. Make five sentences using parts of sentences from each-column of the table below.

A B C
Teaching better opportunity necessary qualification to be a teacher .
It gives women | can develop to take care of both home and career .
One is the amount of work that he/she hasto do.
A person cannot realize his skills attending training courses .
A teacher should have a noble profession

4. Complete the following text with right form of the verbs given in the box.

I be | take | move | go I recover | make | utilize | rise | do | overcome

A Proverb goes that time and tide wait for none. Since the dawn of civilization, time is (a) . It does
(b) any rest. It is never constant. Time once gone is (c) forever. Lost health may be regained
by medicine and proper caring and nursing. Lost time cannot be (d) by any means because nobody can
stop the ceaseless onward march of time. Life (e) nothing but the sum total of some moments. So,
everybody should (f)___ every moment of his life. But everyone (g) so. Only a few people
(h) proper use of time and they can (i) to the pinnacles of glory by (j)_ the problem of life
in this world. We should follow them.

a e i

b f j

c g

d h

5. Rewrite the following passage in the reported speech.

“Rina, have you done your English lesson today? asked the teacher. “Yes, sir” she replied. “But | have not
understood one grammatical point. Would you please explain to me?” The teacher assured her saying, “I’ll
help you to understand the point.”

6. Change the sentences according to directions.

English Language Zone m.solaeman 01772828790 64

T4 7 P 4 5 B I 4  LH  50 40  H  H 50 8  50 H  A P 4 50 45 0 5 9 59 5 5 0 M 4 9 4 00 45 B I  H 4  40 4  45 50  8 4  91 49/ 5 F




(D> EnglishLanguage Zone

JSC, SSC & HSC English
=i

. Poverty is the greatest problem in our country (Use positive degree)
. Many do not try to better their condition by hard labour (Make compound sentence)
. They only curse their fate (Use passive voice).
. But it is man who is the maker of his own fortune (Make simple sentence).
. By working hard, they can improve their condition (Make negative sentence).
it is possible to overcome poverty (Make negative sentence).
. Only education can help them (Make negative sentence).
. If they are educated, they can be skilled (Make simple sentence).
A skilled person can be an earning hand (Make interrogative sentence).
By earning money, he/she can be self-sufficient (Make complex sentence).

T om thD Q0T gl

o|(m |[—h (o o0 ||

j
7. Complete the following sentences.
(a) A student will obtain A+ in the examination provided that

(b) Scarcely had the teacher entered the classroom

(c) The woman proceeded as though

(d) Uneasy lies the head

(e) Had he forbidden me,

8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

Sound health is the (a)___ (come)___ of physical exercise in a (b)___ (regulate)_  form. (c)__
(regulated)___ form of exercise of (d)___ (exercise)__is injurious to health. Remember that if you take
physical exercise, you must not be (e)___ (regular)___ So, exercise must be take (f)___ (regular)__. If itis

otherwise, physical exercise will be (g)__ (harm)___ to health. Then health will (h)___ (certain)___ break
down. (i)___ (regular)___ exercise must be avoided. We should be (j)___ (caution)___ of this effect.

a e i

b f i

c g

d h

9. Make tag questions of these statements.

Hello, Rishad. You saw the programme on arsenic pollution in the NTV yesterday,
Oh! Yes Rifat. | did. It has already become a serious problem in our country,
It enters into our body when we take arsenic contaminated water, ?
It can cause different diseases, ?

You are right. Everyone must be careful about taking water, ?
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10. Fill in the blanks with suitable linking words from the list.

Liberty is very difficult to achieve (a) it is the birth right of a man and a nation. One has to struggle
hard of liberty (b) liberty does not mean political liberty only. It means economic emancipation,
freedom to choose, free hand to act and right to express one’s thought (c) ___ being influenced by
others. (d) a nation it is more difficult to achieve (e) it is under foreign domination or ruled
by another country.

a (o e

b d

11. Rewrite the following passage and punctuate where necessary.
hold your tongues he muttered glaring fiercely in their faces have you not read the warning on the door we
pray for allahs pardon cried the dervishes our lives are at your mercy
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